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Sub test() 't (2 RITEHIFIFAE)

Dim p As Variant FIDT DT EXTHES |
Dim p2(1 To 48, 1 To 4) As Variant -
Dim g As Integer, c As Integer fq&
Dim i As Integer, j As Integer
Dim ws2 As Worksheet, ws4 As Worksheet -
Rt
Set ws2 = Worksheets("Sheet2")
Set ws4 = Worksheets("Sheet4") >
p = ws4.Range("a1").CurrentRegion.Value o
g = UBound(p, 1)
c = UBound(p, 2) E-'ﬂ
=1
Fori=2Tog ﬁ
If InStr(p(i, 1)," & ") >=1Then
p2(j, 1) = p(i, 1) -
p2(j, 2) = p(i, 2) =
p2(j, 3) = p(i, 3)
p2(j, 4) = p(i, 4)
j=j+ L
End If
Next i -
ws2.Range("a2").Resize(qg, ¢).Value = p2 m
End Sub
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Subtest()'AA—FT7 1 JLZ

Dim ws4 As Worksheet, ws6 As Worksheet

Set ws4 = Worksheets("Sheet4")
Set ws6 = Worksheets("Sheet6")

= YouTube % 90 [g]

vba90_before.xlsx

ws4.Range("A1").AutoFilter Field:=3, Criterial:=">=1000"

HEREIE—

ws4.Range("A1").CurrentRegion.Copy ws6.Range("A1")

"F— b T 1 VR EEER
ws4.Range("A1").AutoFilter
End Sub
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Sub test2() '#H cells
Dim g As Integer
Dim i As Integer
Dim j As Integer

Dim ws4 As Worksheet, ws7 As Worksheet

Set ws4 = Worksheets("Sheet4")

Set ws7 = Worksheets("Sheet7")

g = ws4.Range("a1").End(xIDown).Row
j=2

Fori=2Tog
If InStr(ws4.Cells(i, 1).Value, "B ") =
ws7.Cells(j, 1).Value = ws4. CeIIs(|, 1
ws7.Cells(j, 2).Value = ws4.Cells(i, 2
ws7.Cells(j, 3).Value = ws4.Cells(i, 3
ws7.Cells(j, 4).Value = ws4.Cells(i, 4
j=j+1
End If
Next i

End Sub
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